

## A Note On Fuzzy Topological Maps

A. K. Chaudhuri and P. Das

Department of Mathematics  
Visva-Bharati University  
Santiniketan, West Bengal  
INDIA

Abstract: The notion of a fuzzy topological map is introduced and it is shown that the necessity part of the fuzzy version of Theorem 2.1 [2] is not true.

Let  $X$  be a set and  $I=[0,1]$ .

Unless otherwise mentioned as regards fuzzy notions and notations we follow Ming and Ming [3].

Let  $X = \{x_1, x_2, \dots, x_n\}$  and  $a_i \in I$  for  $i=1, 2, \dots, n$ . By  $(a_1, a_2, \dots, a_n)$  we shall mean the fuzzy subset  $A$  of  $X$  such that  $A(x_i) = a_i$ .

Let  $(X, T)$  and  $(Y, T')$  be two fuzzy topological spaces.

Let  $\mathcal{B}$  be the family of all fuzzy points  $\{x_p, p \in I - \{0\}, x \in X\}$  in  $X$ . We define two relations  $\leq_T$  and  $\equiv_T$  in  $\mathcal{B}$  by

$$x_p \leq_T y_q \text{ iff } \forall O \in T, y_q \in O \implies x_p \in O.$$

$$x \equiv_T y \text{ iff } \forall O \in T, x_p \leq_T y_q \text{ and } y_q \leq_T x_p.$$

The relation  $\equiv_T$  is an equivalence relation in  $\mathcal{B}$ . The equivalence class containing the fuzzy point  $x_p \in \mathcal{B}$  will be denoted by  $(x_p)$ . Then  $\forall O \in T, O = \bigcup_{x_p \in O} (x_p)$ .

The set of all fuzzy continuous maps of  $(X, T)$  into  $(Y, T')$  is denoted by  $C(X, Y; T, T')$ .

Theorem 1:  $\forall f \in C(X, Y; T, T')$  and  $\forall x_p, y_q \in \mathcal{B}, x_p \leq_T y_q \implies f(x_p) \leq_{T'} f(y_q)$ .

Proof: Let  $x_p \leq_T y_q$  and let  $O \in T'$ .

Since  $f \in C(X, Y; T, T')$ ,  $f^{-1}(O) \in T$ .

Since  $x_p \leq_T y_q$ ,  $y_q \in f^{-1}(O) \implies x_p \in f^{-1}(O)$ .

So  $f(y_q) \in O \implies f(x_p) \in O$ .

Therefore  $f(x_p) \leq_{T'} f(y_q)$ .

Corollary: 1.1:  $\forall f \in C(X, Y; T, T'), x_p \equiv_T y_q \implies f(x_p) \equiv_{T'} f(y_q)$ .

Definition 1.2:  $f, g \in C(X, Y; T, T')$  are said to be fuzzy

topologically equivalent written as  $f \underset{(T, T')}{=} g$  iff  $f(x_p) \equiv_{T'} g(x_p) \forall x_p \in \mathcal{B}$ .

Theorem 1.3:  $\forall f, g \in C(X, Y; T, T'), f \underset{(T, T')}{=} g$  iff  $f^{-1}(0) = g^{-1}(0)$

$\forall 0 \in T'$ .

Proof: Let  $f \underset{(T, T')}{=} g$  and let there be  $0 \in T'$  such that  $f^{-1}(0) \neq g^{-1}(0)$ . Then there exist  $x_p \in \mathcal{B}$  such that  $x_p \in f^{-1}(0)$  but  $x_p \notin g^{-1}(0)$  or  $x_p \in g^{-1}(0)$  but  $x_p \notin f^{-1}(0)$ .

That is,  $f(x_p) \in 0$  but  $g(x_p) \notin 0$  or  $g(x_p) \in 0$  but  $f(x_p) \notin 0$ .

So  $f(x_p) \not\equiv_{T'} g(x_p)$ , a contradiction.

Therefore  $f^{-1}(0) = g^{-1}(0)$ .

Conversely let  $f^{-1}(0) = g^{-1}(0)$ .

If possible let  $f \not\underset{(T, T')}{=} g$ . Then there exists a  $x_p \in \mathcal{B}$  such that  $f(x_p) \not\equiv_{T'} g(x_p)$ .

Therefore there exists a  $0 \in T'$  such that  $f(x_p) \in 0$  but  $g(x_p) \notin 0$  or  $g(x_p) \in 0$  but  $f(x_p) \notin 0$ .

That is,  $x_p \in f^{-1}(0)$  but  $x_p \notin g^{-1}(0)$  or  $x_p \in g^{-1}(0)$  but  $x_p \notin f^{-1}(0)$ .

So  $f^{-1}(0) \neq g^{-1}(0)$ , a contradiction.

Hence  $f \underset{(T, T')}{=} g$  holds.

Definition 1.4: A map  $F: T' \rightarrow T$  is said to be a fuzzy

topological map if it satisfies the following conditions:

(i)  $F(0_y) = 0_x, F(1_y) = 1_x$ .

(ii)  $F(\bigcup_{0 \in T_1} 0) = \bigcup_{0 \in T_1} F(0)$  for all  $T_1 \subset T'$ .

(iii)  $F(\bigcap_{0 \in T_1} 0) = \bigcap_{0 \in T_1} F(0)$ , if  $T_1 \subset T'$  &  $\bigcap_{0 \in T_1} 0 \in T'$ .

Remark 1.5 : Dib[2] has shown that if  $(X, T)$  and  $(Y, T')$  be topological spaces, then  $F: T' \rightarrow T$  is a topological map iff there exists a continuous function  $f: (X, T) \rightarrow (Y, T')$  such that  $F(0) = f^{-1}(0), \forall 0 \in T'$ .

The sufficiency of the fuzzy version of the above result is obvious. However the following example will show that the necessity part of the fuzzy version of the above result is not true.

Example:1.6 Let  $X = \{x,y,z\}$  and  $Y = \{a,b\}$

$T = \{0,1, (7/8,7/8,0), (3/4,3/4,0), (0,0,1/4), (3/4,3/4,1/4), (7/8,7/8,1/4)\}$

$T' = \{0,1, (3/4,0), (0,1/4), (3/4,1/4)\}$

Let  $F: T' \rightarrow T$  be defined by

$F(3/4,0) = (7/8,7/8,0)$

$F(0,1/4) = (0,0,1/4)$

$F(3/4,1/4) = (7/8,7/8,1/4)$

$F(0) = 0, \quad F(1) = 1$

Then  $F$  is  $\wedge^a$  fuzzy topological map.

The only fuzzy continuous map of  $(X,T)$  into  $(Y,T')$  is  $f$  where  $f: X \rightarrow Y$  is defined by  $f(x) = f(y) = a, f(z) = b$ .

But if  $0 = (3/4,0)$ , then  $0 \in T'$ , but  $f^{-1}(0) = (3/4,3/4,0) \neq F(0)$ .

#### References

- 1: C.L.Chang, Fuzzy topological spaces, J.Math.Anal.Appl. 24(1968) 182-190
- 2: K.A.Dib, Topological maps, Bull.Cal.Math.Soc.81(1989)343-
- 3: Pu.Pao-Ming and Liu Ying Ming, Fuzzy topology I. Neighbourhood structure of a fuzzy point and Moore Smith convergence, J.Math.Anal.Appl.76 No2(1980)571-599
- 4: L.A.Zadeh, Fuzzy sets, Inform and Control.(1965)338-353.